Average row sums ARS

Two-component vector MV

NN =2

3.0
28 1 '\
26 |
247 ~G1.C
2.2 —~=F1_C
2.0 1 K ~F2.C
1.8 —+F3_C
16 G1_A
14 \\\kk&\[\\ - —F1_A
P e N\ . < F2_A
o] e w
0.8 — t
06 —_—

0 20 40 60 80 130 120 140 160 180 200

Average row sums ARS

a A A
(= L
I I

——G1_C
—=—F1_C
——F2 C
—+—F3 C

G1_A
——F1_A
——F2 A

20 40 60 80 100 120 140 160 180 200
N

Figure S1. Average row sums ARS™ versus number of peaks considered (N); (left) NN = 2;

(right) NN = 6.
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Figure S2. Dependence of the average magnitude of two-component vector MV on the

number of peaks considered (N); (left) NN = 2; (right) NN = 6.



